

NOTE ON NEWTON-TYPE INEQUALITIES INVOLVING TEMPERED FRACTIONAL INTEGRALS

FATİH HEZENCİ* AND HÜSEYİN BUDAK

ABSTRACT. We propose a new method of investigation of an integral equality associated with tempered fractional integrals. In addition to this, several Newton-type inequalities are considered for differentiable convex functions by taking the modulus of the newly established identity. Moreover, we establish some Newton-type inequalities with the help of Hölder and power-mean inequality. Furthermore, several new results are presented by using special choices of obtained inequalities.

1. Introduction and Preliminaries

Simpson's second rule is possessed of the rule of three-point Newton-Cotes quadrature. Computations for three steps quadratic kernel are generally called Newton-type results. These results are known to be Newton-type inequalities in literature. The study of Newton-type inequalities has been extensively pursued by numerous mathematicians. For instance, in [6], Newton-type inequalities were established for the case of functions whose second derivatives are convex. Newton-type inequalities were investigated by post-quantum integrals in [13]. Noor et al. proved Newton-type inequalities connected with harmonic convex and p -harmonic convex functions in [18] and [19], respectively. Moreover, in paper [1], Newton-type inequalities were considered for the case of quantum differentiable convex functions. Furthermore, in paper [4], several error estimates of Newton-type quadrature formula were presented by bounded variation and Lipschitzian mappings. See [5, 8, 10, 17, 24] and the references cited therein for some recent results about Newton-type inequalities including convex differentiable functions.

DEFINITION 1. [20] Consider that I is an interval of real numbers. Then, a function $f : I \rightarrow \mathbb{R}$ is said to be convex, if

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y)$$

is valid for all $x, y \in I$ and all $t \in [0, 1]$.

Simpson-type inequalities are derived from Simpson's rules and take the following form of inequalities:

Received February 4, 2024. Revised May 13, 2024. Accepted May 15, 2024.

2010 Mathematics Subject Classification: 26A51, 26D15, 34A08.

Key words and phrases: Newton formula, fractional calculus, tempered fractional integrals.

* Corresponding author.

© The Kangwon-Kyungki Mathematical Society, 2024.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

i. Simpson's quadrature formula (Simpson's 1/3 rule):

$$\int_a^b f(x) dx \approx \frac{b-a}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right].$$

ii. Newton-Cotes quadrature formula or Simpson's second formula (Simpson's 3/8 rule):

$$\int_a^b f(x) dx \approx \frac{b-a}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right].$$

The popularity of fractional calculus has increased in recent years due to its broad range of applications in various fields of science. Given the significance of fractional calculus, various fractional integral operators can be considered. It can be obtained the bounds of new formulas by using the Hermite–Hadamard-type and Simpson-type inequalities. For instance, sundry Newton-type inequalities for the case of functions whose first derivative in absolute value at certain power are arithmetically-harmonically convex were acquired in [3]. In addition, some Newton-type inequalities were established by using Riemann-Liouville fractional integrals for differentiable convex functions and the authors also acquired several Riemann-Liouville fractional Newton-type inequalities for functions of bounded variation in [24]. Furthermore, some Newton-type inequalities were investigated and some applications for the case of special cases of real functions were also given in [6]. Please see [9, 10] for more detailed information and unexplained subjects.

DEFINITION 2. [7, 11] Let $f \in L_1[a, b]$, $a, b \in \mathbb{R}$ with $a < b$. The Riemann-Liouville fractional integrals $J_{a+}^\alpha f$ and $J_{b-}^\alpha f$ of order $\alpha > 0$ are defined by

$$(1) \quad J_{a+}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t) dt, \quad x > a$$

and

$$(2) \quad J_{b-}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} f(t) dt, \quad x < b,$$

respectively. Here, Γ denotes the Gamma function defined by

$$\Gamma(\alpha) = \int_0^\infty e^{-u} u^{\alpha-1} du.$$

Let us note that $J_{a+}^0 f(x) = J_{b-}^0 f(x) = f(x)$.

The advancement of tempered fractional calculus has expanded the scope of applications for the case of fractional calculus, making it a versatile tool in various fields of study. The definitions of fractional integration with weak singular and exponential kernels were firstly reported in Buschman's earlier work [2]. Please see [15, 21, 25] for more detailed information and unexplained subjects about the sundry definitions of the tempered fractional operators. In [16], Mohammed et al. were investigated several Hermite–Hadamard-type inequalities associated with the tempered fractional integrals for the case of convex functions which cover the previously published result such as Riemann integrals, Riemann-Liouville fractional integrals. To be more precise, the authors followed the Sarikaya et al. [22] and Sarikaya and Yildirim [23] techniques in order to prove several Hermite–Hadamard-type inequalities which including the tempered fractional integrals.

DEFINITION 3. The incomplete gamma function, λ -incomplete gamma function are defined by

$$\Upsilon(\alpha, x) := \int_0^x t^{\alpha-1} e^{-t} dt$$

and

$$\Upsilon_\lambda(\alpha, x) := \int_0^x t^{\alpha-1} e^{-\lambda t} dt,$$

respectively. Here, $0 < \alpha < \infty$ and $\lambda \geq 0$.

The properties of the λ -incomplete gamma function are as follows:

REMARK 1. [16] For real numbers $\alpha > 0$; $x, \lambda \geq 0$ and $a < b$, we have

- i. $\Upsilon_{\lambda(b-a)}(\alpha, 1) = \int_0^1 t^{\alpha-1} e^{-\lambda(b-a)t} dt = \frac{1}{(b-a)^\alpha} \Upsilon_\lambda(\alpha, b-a),$
- ii. $\int_0^1 \Upsilon_{\lambda(b-a)}(\alpha, x) dx = \frac{\Upsilon_\lambda(\alpha, b-a)}{(b-a)^\alpha} - \frac{\Upsilon_\lambda(\alpha+1, b-a)}{(b-a)^{\alpha+1}}.$

DEFINITION 4. [12, 14] The fractional tempered integral operators $\mathcal{J}_{a+}^{(\alpha, \lambda)} f$ and $\mathcal{J}_{b-}^{(\alpha, \lambda)} f$ of order $\alpha > 0$ and $\lambda \geq 0$ are presented by

$$(3) \quad \mathcal{J}_{a+}^{(\alpha, \lambda)} f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} e^{-\lambda(x-t)} f(t) dt, \quad x \in [a, b]$$

and

$$(4) \quad \mathcal{J}_{b-}^{(\alpha, \lambda)} f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} e^{-\lambda(t-x)} f(t) dt, \quad x \in [a, b],$$

respectively. Here, f belongs to $L_1[a, b]$.

Let us consider $\lambda = 0$. Then, the fractional integral in (3) and (4) reduces to the Riemann-Liouville fractional integral in (1) and (2), respectively.

The structure of the paper is divided into four parts, starting with an overview and introduction and preliminaries. The fundamental definitions of fractional calculus and other relevant research in this discipline are given in above. An integral equality will be proved in Section 2. Moreover, we investigate Newton-type inequalities including tempered fractional operators. In Section 3, several results will be given by using special choices of obtained inequalities. Finally, in Section 4, we will give several ideas for the further directions of research.

2. Principal outcomes

LEMMA 1. Let $f : [a, b] \rightarrow \mathbb{R}$ be a differentiable function on (a, b) . If f' belongs to $L[a, b]$, then the following identity holds:

$$\begin{aligned} & \frac{3^{\alpha-1} \Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a+}^{(\alpha, \lambda)} f\left(\frac{2a+b}{3}\right) + \mathcal{J}_{\frac{2a+b}{3}+}^{(\alpha, \lambda)} f\left(\frac{a+2b}{3}\right) + \mathcal{J}_{\frac{a+2b}{3}+}^{(\alpha, \lambda)} f(b) \right] \\ & - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \end{aligned}$$

$$(5) = \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} [I_1 + I_2 + I_3].$$

Here, $\Gamma(\alpha)$ is Euler Gamma function and

$$\begin{cases} I_1 = \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(ta + (1-t) \left(\frac{2a+b}{3} \right) \right) dt, \\ I_2 = \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(t \left(\frac{2a+b}{3} \right) + (1-t) \left(\frac{a+2b}{3} \right) \right) dt, \\ I_3 = \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(t \left(\frac{a+2b}{3} \right) + (1-t)b \right) dt. \end{cases}$$

Proof. By using integration by parts and changing variables with $x = ta + (1-t) \left(\frac{2a+b}{3} \right)$, we readily obtain

$$\begin{aligned} I_1 &= \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(ta + (1-t) \left(\frac{2a+b}{3} \right) \right) dt \\ &= -\frac{3}{b-a} \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f \left(ta + (1-t) \left(\frac{2a+b}{3} \right) \right) \Big|_0^1 \\ &\quad + \frac{3}{b-a} \int_0^1 t^{\alpha-1} e^{-\lambda(\frac{b-a}{3})t} f \left(ta + (1-t) \left(\frac{2a+b}{3} \right) \right) dt \\ &= -\frac{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f(a) - \frac{15 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f \left(\frac{2a+b}{3} \right) \\ &\quad + \left(\frac{3}{b-a} \right)^{1+\alpha} \int_a^{\frac{2a+b}{3}} \left(\frac{2a+b}{3} - x \right)^{\alpha-1} e^{-\lambda(\frac{2a+b}{3}-x)} f(x) dx \\ &= -\frac{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f(a) - \frac{15 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f \left(\frac{2a+b}{3} \right) \\ &\quad + \left(\frac{3}{b-a} \right)^{1+\alpha} \Gamma(\alpha) \mathcal{J}_{a+}^{(\alpha, \lambda)} f \left(\frac{2a+b}{3} \right). \end{aligned}$$

In a similar manner, changing variables with $x = t \left(\frac{2a+b}{3} \right) + (1-t) \left(\frac{a+2b}{3} \right)$ and $x = t \left(\frac{a+2b}{3} \right) + (1-t)b$, we get

$$\begin{aligned} I_2 &= \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(t \left(\frac{2a+b}{3} \right) + (1-t) \left(\frac{a+2b}{3} \right) \right) dt \\ &= -\frac{3}{b-a} \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f \left(t \left(\frac{2a+b}{3} \right) + (1-t) \left(\frac{a+2b}{3} \right) \right) \Big|_0^1 \\ &\quad + \frac{3}{b-a} \int_0^1 t^{\alpha-1} e^{-\lambda(\frac{b-a}{3})t} f \left(t \left(\frac{2a+b}{3} \right) + (1-t) \left(\frac{a+2b}{3} \right) \right) dt \end{aligned}$$

$$\begin{aligned}
 &= -\frac{3 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{2(b-a)} f\left(\frac{2a+b}{3}\right) - \frac{3 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{2(b-a)} f\left(\frac{a+2b}{3}\right) \\
 &\quad + \left(\frac{3}{b-a}\right)^{1+\alpha} \int_{\frac{2a+b}{3}}^{\frac{a+2b}{3}} \left(\frac{a+2b}{3} - x\right)^{\alpha-1} e^{-\lambda(\frac{a+2b}{3}-x)} f(x) dx \\
 &= -\frac{3 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{2(b-a)} f\left(\frac{2a+b}{3}\right) - \frac{3 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{2(b-a)} f\left(\frac{a+2b}{3}\right) \\
 &\quad + \left(\frac{3}{b-a}\right)^{1+\alpha} \Gamma(\alpha) \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f\left(\frac{a+2b}{3}\right)
 \end{aligned}$$

and

$$\begin{aligned}
 I_3 &= \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(t \left(\frac{a+2b}{3} \right) + (1-t)b \right) dt \\
 &= -\frac{3}{b-a} \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f \left(t \left(\frac{a+2b}{3} \right) + (1-t)b \right) \Big|_0^1 \\
 &\quad + \frac{3}{b-a} \int_0^1 t^{\alpha-1} e^{-\lambda(\frac{b-a}{3})t} f \left(t \left(\frac{a+2b}{3} \right) + (1-t)b \right) dt \\
 &= -\frac{15 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f\left(\frac{a+2b}{3}\right) - \frac{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f(b) \\
 &\quad + \left(\frac{3}{b-a}\right)^{1+\alpha} \int_{\frac{a+2b}{3}}^b (b-x)^{\alpha-1} e^{-\lambda(b-x)} f(x) dx \\
 &= -\frac{15 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f\left(\frac{a+2b}{3}\right) - \frac{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}{8(b-a)} f(b) \\
 &\quad + \left(\frac{3}{b-a}\right)^{1+\alpha} \Gamma(\alpha) \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b).
 \end{aligned}$$

Finally, if we multiply $I_1 + I_2 + I_3$ by $\frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)}$, then we have (5). This finishes the proof of Lemma 1. □

THEOREM 1. *Suppose that all the assumptions of Lemma 1 hold. Moreover, let $|f'|$ be a convex function on $[a, b]$. Then, we have the following Newton-type inequality*

$$\begin{aligned}
 &\left| \frac{3^{\alpha-1} \Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a^+}^{(\alpha, \lambda)} f\left(\frac{2a+b}{3}\right) + \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f\left(\frac{a+2b}{3}\right) + \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b) \right] \right. \\
 &\quad \left. - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right| \\
 &\leq \frac{b-a}{27 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \{ (2A_2(\alpha, \lambda) + A_1(\alpha, \lambda) + A_4(\alpha, \lambda) + A_3(\alpha, \lambda) + A_5(\alpha, \lambda)) |f'(a)| \}
 \end{aligned}$$

$$(6) \quad + (A_2(\alpha, \lambda) - A_1(\alpha, \lambda) + 2A_4(\alpha, \lambda) - A_3(\alpha, \lambda) + 3A_6(\alpha, \lambda) - A_5(\alpha, \lambda)) |f'(b)|.$$

Here,

$$\left\{ \begin{array}{l} A_1(\alpha, \lambda) = \int_0^1 t \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt, \\ A_2(\alpha, \lambda) = \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt, \\ A_3(\alpha, \lambda) = \int_0^1 t \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt, \\ A_4(\alpha, \lambda) = \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt, \\ A_5(\alpha, \lambda) = \int_0^1 t \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt, \\ A_6(\alpha, \lambda) = \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt. \end{array} \right.$$

Proof. By using Lemma 1, integration by parts and convexity of $|f'|$, we obtain

$$\begin{aligned} & \left| \frac{3^{\alpha-1} \Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a^+}^{(\alpha, \lambda)} f \left(\frac{2a+b}{3} \right) + \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f \left(\frac{a+2b}{3} \right) + \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b) \right] \right. \\ & \quad \left. - \frac{1}{8} \left[f(a) + 3f \left(\frac{2a+b}{3} \right) + 3f \left(\frac{a+2b}{3} \right) + f(b) \right] \right| \\ & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ \left| \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(ta + (1-t) \left(\frac{2a+b}{3} \right) \right) dt \right| \right. \\ & \quad + \left| \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(t \left(\frac{2a+b}{3} \right) + (1-t) \left(\frac{a+2b}{3} \right) \right) dt \right| \\ & \quad + \left. \left| \int_0^1 \left\{ \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right\} f' \left(t \left(\frac{a+2b}{3} \right) + (1-t)b \right) dt \right| \right\} \\ & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right| dt \right. \\ & \quad + \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right| dt \\ & \quad + \left. \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\frac{t}{3} a + \left(\frac{3-t}{3} \right) b \right) \right| dt \right\} \\ & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ |f'(a)| \int_0^1 \left(\frac{2+t}{3} \right) \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \right. \end{aligned}$$

$$\begin{aligned}
 & + |f'(b)| \int_0^1 \left(\frac{1-t}{3}\right) \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \\
 & + |f'(a)| \int_0^1 \left(\frac{1+t}{3}\right) \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \\
 & + |f'(b)| \int_0^1 \left(\frac{2-t}{3}\right) \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \\
 & + |f'(a)| \int_0^1 \frac{t}{3} \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \\
 & + |f'(b)| \int_0^1 \left(\frac{3-t}{3}\right) \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \Big\} \\
 = & \frac{b-a}{27 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ (2A_2(\alpha, \lambda) + A_1(\alpha, \lambda) + A_4(\alpha, \lambda) + A_3(\alpha, \lambda) + A_5(\alpha, \lambda)) |f'(a)| \right. \\
 & \left. + (A_2(\alpha, \lambda) - A_1(\alpha, \lambda) + 2A_4(\alpha, \lambda) - A_3(\alpha, \lambda) + 3A_6(\alpha, \lambda) - A_5(\alpha, \lambda)) |f'(b)| \right\}.
 \end{aligned}$$

With this calculation, the proof of Theorem 1 ends. □

THEOREM 2. *Assume that all the assumptions of Lemma 1 hold. Assume also that $|f'|^q$ is a convex function on $[a, b]$ where $\frac{1}{p} + \frac{1}{q} = 1$ with $p, q > 1$. Then, the following Newton-type inequality holds:*

$$\begin{aligned}
 & \left| \frac{3^{\alpha-1} \Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a^+}^{(\alpha, \lambda)} f \left(\frac{2a+b}{3} \right) + \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f \left(\frac{a+2b}{3} \right) + \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b) \right] \right. \\
 & \quad \left. - \frac{1}{8} \left[f(a) + 3f \left(\frac{2a+b}{3} \right) + 3f \left(\frac{a+2b}{3} \right) + f(b) \right] \right| \\
 & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ A_7^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{5|f'(a)|^q + |f'(b)|^q}{6} \right]^{\frac{1}{q}} \right. \\
 (7) \quad & \left. + A_8^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{|f'(a)|^q + |f'(b)|^q}{2} \right]^{\frac{1}{q}} + A_9^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{|f'(a)|^q + 5|f'(b)|^q}{6} \right]^{\frac{1}{q}} \right\},
 \end{aligned}$$

where

$$\begin{cases}
 A_7(\alpha, \lambda, p) = \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right|^p dt, \\
 A_8(\alpha, \lambda, p) = \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right|^p dt, \\
 A_9(\alpha, \lambda, p) = \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right|^p dt.
 \end{cases}$$

Proof. Firstly, let us consider Lemma 1. Then, it yields

$$\begin{aligned}
 & \left| \frac{3^{\alpha-1}\Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a^+}^{(\alpha, \lambda)} f \left(\frac{2a+b}{3} \right) + \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f \left(\frac{a+2b}{3} \right) + \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b) \right] \right. \\
 & \quad \left. - \frac{1}{8} \left[f(a) + 3f \left(\frac{2a+b}{3} \right) + 3f \left(\frac{a+2b}{3} \right) + f(b) \right] \right| \\
 & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right| dt \right. \\
 & \quad + \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right| dt \\
 & \quad \left. + \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\frac{t}{3} a + \left(\frac{3-t}{3} \right) b \right) \right| dt \right\}. \tag{8}
 \end{aligned}$$

Now, we consider the integrals on the right side of (8). Using the convexity of $|f'|^q$ and Hölder inequality, we get

$$\begin{aligned}
 & \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right| dt \\
 & \leq \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\
 & \leq A_7^{\frac{1}{p}}(\alpha, \lambda, p) \left(\int_0^1 \left(\frac{2+t}{3} |f'(a)|^q + \frac{1-t}{3} |f'(b)|^q \right) dt \right)^{\frac{1}{q}} \\
 & = A_7^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{5|f'(a)|^q + |f'(b)|^q}{6} \right]^{\frac{1}{q}}. \tag{9}
 \end{aligned}$$

Similar to foregoing process, it follows

$$\begin{aligned}
 & \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right| dt \\
 & \leq \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\
 & \leq A_8^{\frac{1}{p}}(\alpha, \lambda, p) \left(\int_0^1 \left(\frac{1+t}{3} |f'(a)|^q + \frac{2-t}{3} |f'(b)|^q \right) dt \right)^{\frac{1}{q}} \\
 & = A_8^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{|f'(a)|^q + |f'(b)|^q}{2} \right]^{\frac{1}{q}} \tag{10}
 \end{aligned}$$

and

$$\begin{aligned}
 & \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\frac{t}{3}a + \left(\frac{3-t}{3} \right) b \right) \right| dt \\
 & \leq \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 \left| f' \left(\frac{t}{3}a + \left(\frac{3-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\
 & \leq A_9^{\frac{1}{p}}(\alpha, \lambda, p) \left(\int_0^1 \left(\frac{t}{3} |f'(a)|^q + \frac{3-t}{3} |f'(b)|^q \right) dt \right)^{\frac{1}{q}} \\
 (11) \quad & = A_9^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{|f'(a)|^q + 5|f'(b)|^q}{6} \right]^{\frac{1}{q}}.
 \end{aligned}$$

If we consider from (9) to (11) in (8), then we have

$$\begin{aligned}
 & \left| \frac{3^{\alpha-1}\Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a^+}^{(\alpha, \lambda)} f \left(\frac{2a+b}{3} \right) + \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f \left(\frac{a+2b}{3} \right) + \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b) \right] \right. \\
 & \quad \left. - \frac{1}{8} \left[f(a) + 3f \left(\frac{2a+b}{3} \right) + 3f \left(\frac{a+2b}{3} \right) + f(b) \right] \right| \\
 & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ A_7^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{5|f'(a)|^q + |f'(b)|^q}{6} \right]^{\frac{1}{q}} \right. \\
 & \quad \left. + A_8^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{|f'(a)|^q + |f'(b)|^q}{2} \right]^{\frac{1}{q}} + A_9^{\frac{1}{p}}(\alpha, \lambda, p) \left[\frac{|f'(a)|^q + 5|f'(b)|^q}{6} \right]^{\frac{1}{q}} \right\}.
 \end{aligned}$$

This ends the proof of Theorem 2. □

THEOREM 3. *Let us consider that all the assumptions of Lemma 1 hold. Let us also consider that $|f'|^q$ is convex on $[a, b]$ where $q \geq 1$. Then, we have the following Newton-type inequality*

$$\begin{aligned}
 & \left| \frac{3^{\alpha-1}\Gamma(\alpha)}{(b-a)^\alpha \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left[\mathcal{J}_{a^+}^{(\alpha, \lambda)} f \left(\frac{2a+b}{3} \right) + \mathcal{J}_{\frac{2a+b}{3}^+}^{(\alpha, \lambda)} f \left(\frac{a+2b}{3} \right) + \mathcal{J}_{\frac{a+2b}{3}^+}^{(\alpha, \lambda)} f(b) \right] \right. \\
 & \quad \left. - \frac{1}{8} \left[f(a) + 3f \left(\frac{2a+b}{3} \right) + 3f \left(\frac{a+2b}{3} \right) + f(b) \right] \right| \\
 & \leq \frac{b-a}{9 \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1)} \left\{ A_2^{1-\frac{1}{q}}(\alpha, \lambda) \left[\left(\frac{2A_2(\alpha, \lambda) + A_1(\alpha, \lambda)}{3} \right) |f'(a)|^q \right. \right. \\
 & \quad \left. \left. + \left(\frac{A_2(\alpha, \lambda) - A_1(\alpha, \lambda)}{3} \right) |f'(b)|^q \right]^{\frac{1}{q}} \right. \\
 & \quad \left. + A_4^{1-\frac{1}{q}}(\alpha, \lambda) \left[\left(\frac{A_4(\alpha, \lambda) + A_3(\alpha, \lambda)}{3} \right) |f'(a)|^q + \left(\frac{2A_4(\alpha, \lambda) - A_3(\alpha, \lambda)}{3} \right) |f'(b)|^q \right]^{\frac{1}{q}} \right\}
 \end{aligned}$$

(12)

$$+A_6^{1-\frac{1}{q}}(\alpha, \lambda) \left[\frac{A_5(\alpha, \lambda)}{3} |f'(a)|^q + \left(\frac{3A_6(\alpha, \lambda) - A_5(\alpha, \lambda)}{3} \right) |f'(b)|^q \right]^{\frac{1}{q}} \Bigg\}.$$

Here, $A_1(\alpha, \lambda)$, $A_2(\alpha, \lambda)$, $A_3(\alpha, \lambda)$, $A_4(\alpha, \lambda)$, $A_5(\alpha, \lambda)$, and $A_6(\alpha, \lambda)$ are defined in Theorem 1.

Proof. If we consider the convexity of $|f'|^q$ and power mean inequality, then we obtain

$$\begin{aligned} & \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right| dt \\ & \leq \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \right)^{1-\frac{1}{q}} \\ & \quad \times \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\ & = A_2^{1-\frac{1}{q}}(\alpha, \lambda) \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{2+t}{3} \right) a + \left(\frac{1-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\ & \leq A_2^{1-\frac{1}{q}}(\alpha, \lambda) \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{5}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left[\frac{2+t}{3} |f'(a)|^q + \frac{1-t}{3} |f'(b)|^q \right] dt \right)^{\frac{1}{q}} \end{aligned}$$

(13)

$$= A_2^{1-\frac{1}{q}}(\alpha, \lambda) \left[\left(\frac{2A_2(\alpha, \lambda) + A_1(\alpha, \lambda)}{3} \right) |f'(a)|^q + \left(\frac{A_2(\alpha, \lambda) - A_1(\alpha, \lambda)}{3} \right) |f'(b)|^q \right]^{\frac{1}{q}}$$

and similarly

$$\begin{aligned} & \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right| dt \\ & \leq \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \right)^{1-\frac{1}{q}} \\ & \quad \times \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\ & = A_4^{1-\frac{1}{q}}(\alpha, \lambda) \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\left(\frac{1+t}{3} \right) a + \left(\frac{2-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\ & \leq A_4^{1-\frac{1}{q}}(\alpha, \lambda) \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{1}{2} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left[\frac{1+t}{3} |f'(a)|^q + \frac{2-t}{3} |f'(b)|^q \right] dt \right)^{\frac{1}{q}} \end{aligned}$$

$$\begin{aligned}
 & (14) \\
 & = A_4^{1-\frac{1}{q}}(\alpha, \lambda) \left[\left(\frac{A_4(\alpha, \lambda) + A_3(\alpha, \lambda)}{3} \right) |f'(a)|^q + \left(\frac{2A_4(\alpha, \lambda) - A_3(\alpha, \lambda)}{3} \right) |f'(b)|^q \right]^{\frac{1}{q}} \\
 & \text{and} \\
 & \int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\frac{t}{3}a + \left(\frac{3-t}{3} \right) b \right) \right| dt \\
 & \leq \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| dt \right)^{1-\frac{1}{q}} \\
 & \quad \times \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\frac{t}{3}a + \left(\frac{3-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\
 & = A_6^{1-\frac{1}{q}}(\alpha, \lambda) \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left| f' \left(\frac{t}{3}a + \left(\frac{3-t}{3} \right) b \right) \right|^q dt \right)^{\frac{1}{q}} \\
 & \leq A_6^{1-\frac{1}{q}}(\alpha, \lambda) \left(\int_0^1 \left| \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, t) - \frac{3}{8} \Upsilon_{\lambda(\frac{b-a}{3})}(\alpha, 1) \right| \left[\frac{t}{3} |f'(a)|^q + \frac{3-t}{3} |f'(b)|^q \right] dt \right)^{\frac{1}{q}} \\
 & (15) \\
 & = A_6^{1-\frac{1}{q}}(\alpha, \lambda) \left[\frac{A_5(\alpha, \lambda)}{3} |f'(a)|^q + \left(\frac{3A_6(\alpha, \lambda) - A_5(\alpha, \lambda)}{3} \right) |f'(b)|^q \right]^{\frac{1}{q}}.
 \end{aligned}$$

If we consider (13)-(15) in (8), then the proof Theorem 3 is completed. □

3. Special cases

REMARK 2. If we assign $\lambda = 0$ in (5), then the equality becomes to

$$\begin{aligned}
 & \frac{3^{\alpha-1} \Gamma(\alpha+1)}{(b-a)^\alpha} \left[J_{a^+}^\alpha f \left(\frac{2a+b}{3} \right) + J_{(\frac{2a+b}{3})^+}^\alpha f \left(\frac{a+2b}{3} \right) + J_{(\frac{a+2b}{3})^+}^\alpha f(b) \right] \\
 & \quad - \frac{1}{8} \left[f(a) + 3f \left(\frac{2a+b}{3} \right) + 3f \left(\frac{a+2b}{3} \right) + f(b) \right] \\
 & = \frac{(b-a)\alpha}{9} [I_1^* + I_2^* + I_3^*],
 \end{aligned}$$

where

$$\begin{cases} I_1^* = \frac{1}{\alpha} \int_0^1 (t^\alpha - \frac{5}{8}) f'(ta + (1-t)(\frac{2a+b}{3})) dt, \\ I_2^* = \frac{1}{\alpha} \int_0^1 (t^\alpha - \frac{1}{2}) f'(t(\frac{2a+b}{3}) + (1-t)(\frac{a+2b}{3})) dt, \\ I_3^* = \frac{1}{\alpha} \int_0^1 (t^\alpha - \frac{3}{8}) f'(t(\frac{a+2b}{3}) + (1-t)b) dt. \end{cases}$$

This coincides with [24, Lemma 1].

REMARK 3. If we select $\lambda = 0$ in (6), then we obtain

$$\begin{aligned} & \left| \frac{3^{\alpha-1}\Gamma(\alpha+1)}{(b-a)^\alpha} \left[J_{a^+}^\alpha f\left(\frac{2a+b}{3}\right) + J_{\left(\frac{2a+b}{3}\right)^+}^\alpha f\left(\frac{a+2b}{3}\right) + J_{\left(\frac{a+2b}{3}\right)^+}^\alpha f(b) \right] \right. \\ & \quad \left. - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right| \\ & \leq \frac{(b-a)\alpha}{27} [(2A_2(\alpha, 0) + A_1(\alpha, 0) + A_4(\alpha, 0) + A_3(\alpha, 0) + A_5(\alpha, 0)) |f'(a)| \\ & \quad + (A_2(\alpha, 0) - A_1(\alpha, 0) + 2A_4(\alpha, 0) - A_3(\alpha, 0) + 3A_6(\alpha, 0) - A_5(\alpha, 0)) |f'(b)|]. \end{aligned}$$

Here,

$$\left\{ \begin{aligned} A_1(\alpha, 0) &= \frac{1}{\alpha} \int_0^1 t |t^\alpha - \frac{5}{8}| dt = \frac{1}{\alpha} \left[\frac{\alpha}{\alpha+2} \left(\frac{5}{8}\right)^{1+\frac{2}{\alpha}} + \frac{1}{\alpha+2} - \frac{5}{16} \right], \\ A_2(\alpha, 0) &= \frac{1}{\alpha} \int_0^1 |t^\alpha - \frac{5}{8}| dt = \frac{1}{\alpha} \left[\frac{2\alpha}{\alpha+1} \left(\frac{5}{8}\right)^{1+\frac{1}{\alpha}} + \frac{1}{\alpha+1} - \frac{5}{8} \right], \\ A_3(\alpha, 0) &= \frac{1}{\alpha} \int_0^1 t |t^\alpha - \frac{1}{2}| dt = \frac{1}{\alpha} \left[\frac{\alpha}{\alpha+2} \left(\frac{1}{2}\right)^{1+\frac{2}{\alpha}} + \frac{1}{\alpha+2} - \frac{1}{4} \right], \\ A_4(\alpha, 0) &= \frac{1}{\alpha} \int_0^1 |t^\alpha - \frac{1}{2}| dt = \frac{1}{\alpha} \left[\frac{2\alpha}{\alpha+1} \left(\frac{1}{2}\right)^{1+\frac{1}{\alpha}} + \frac{1}{\alpha+1} - \frac{1}{2} \right], \\ A_5(\alpha, 0) &= \frac{1}{\alpha} \int_0^1 t |t^\alpha - \frac{3}{8}| dt = \frac{1}{\alpha} \left[\frac{\alpha}{\alpha+2} \left(\frac{3}{8}\right)^{1+\frac{2}{\alpha}} + \frac{1}{\alpha+2} - \frac{3}{16} \right], \\ A_6(\alpha, 0) &= \frac{1}{\alpha} \int_0^1 |t^\alpha - \frac{3}{8}| dt = \frac{1}{\alpha} \left[\frac{2\alpha}{\alpha+1} \left(\frac{3}{8}\right)^{1+\frac{1}{\alpha}} + \frac{1}{\alpha+1} - \frac{3}{8} \right]. \end{aligned} \right.$$

This was established by Sitthiwiratttham et al. [24, Theorem 4].

REMARK 4. Consider $\lambda = 0$ and $\alpha = 1$ in (6). Then, (6) reduces to

$$\begin{aligned} & \left| \frac{1}{b-a} \int_a^b f(t) dt - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right| \\ & \leq \frac{25(b-a)}{576} (|f'(a)| + |f'(b)|), \end{aligned}$$

which was given in [24, Remark 3].

REMARK 5. For $\lambda = 0$ in the inequality (7), we have

$$\begin{aligned} & \left| \frac{3^{\alpha-1}\Gamma(\alpha+1)}{(b-a)^\alpha} \left[J_{a^+}^\alpha f\left(\frac{2a+b}{3}\right) + J_{\left(\frac{2a+b}{3}\right)^+}^\alpha f\left(\frac{a+2b}{3}\right) + J_{\left(\frac{a+2b}{3}\right)^+}^\alpha f(b) \right] \right. \\ & \quad \left. - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right| \\ & \leq \frac{(b-a)\alpha}{9} \left\{ (A_7(\alpha, 0, p))^{\frac{1}{p}} \left(\frac{5|f'(a)|^q + |f'(b)|^q}{6} \right)^{\frac{1}{q}} \right. \\ & \quad \left. + (A_8(\alpha, 0, p))^{\frac{1}{p}} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{\frac{1}{q}} + (A_9(\alpha, 0, p))^{\frac{1}{p}} \left(\frac{|f'(a)|^q + 5|f'(b)|^q}{6} \right)^{\frac{1}{q}} \right\}, \end{aligned}$$

where

$$\begin{cases} A_7(\alpha, 0, p) = \int_0^1 \left| \frac{t^\alpha}{\alpha} - \frac{5}{8\alpha} \right|^p dt, \\ A_8(\alpha, 0, p) = \int_0^1 \left| \frac{t^\alpha}{\alpha} - \frac{1}{2\alpha} \right|^p dt, \\ A_9(\alpha, 0, p) = \int_0^1 \left| \frac{t^\alpha}{\alpha} - \frac{3}{8\alpha} \right|^p dt. \end{cases}$$

This was established by Sitthiwiratham et al. [24].

REMARK 6. Consider $\lambda = 0$ and $\alpha = 1$ in (7). Then, (7) coincides with

$$\begin{aligned} & \left| \frac{1}{b-a} \int_a^b f(t) dt - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right| \\ & \leq \frac{b-a}{9} \left\{ \left(\frac{5^{p+1} + 3^{p+1}}{8^{p+1}(p+1)} \right)^{\frac{1}{p}} \left(\frac{|f'(a)|^q + 5|f'(b)|^q}{6} \right)^{\frac{1}{q}} \right. \\ & \quad + \left(\frac{1}{2^p(p+1)} \right)^{\frac{1}{p}} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{\frac{1}{q}} \\ & \quad \left. + \left(\frac{5^{p+1} + 3^{p+1}}{8^{p+1}(p+1)} \right)^{\frac{1}{p}} \left(\frac{5|f'(a)|^q + |f'(b)|^q}{6} \right)^{\frac{1}{q}} \right\}, \end{aligned}$$

which was presented in [24, Remark 5].

REMARK 7. For $\lambda = 0$, the inequality (12) reduces to

$$\begin{aligned} & \left| \frac{3^{\alpha-1}\Gamma(\alpha+1)}{(b-a)^\alpha} \left[J_{a^+}^\alpha f\left(\frac{2a+b}{3}\right) + J_{\left(\frac{2a+b}{3}\right)^+}^\alpha f\left(\frac{a+2b}{3}\right) + J_{\left(\frac{a+2b}{3}\right)^+}^\alpha f(b) \right] \right. \\ & \quad \left. - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right| \\ & \leq \frac{(b-a)\alpha}{9} \left\{ (A_2(\alpha, 0))^{1-\frac{1}{q}} \left(\left(\frac{2A_2(\alpha, 0) + A_1(\alpha, 0)}{3} \right) |f'(a)|^q \right. \right. \\ & \quad \left. \left. + \left(\frac{A_2(\alpha, 0) - A_1(\alpha, 0)}{3} \right) |f'(b)|^q \right)^{\frac{1}{q}} \right. \\ & \quad + (A_4(\alpha, 0))^{1-\frac{1}{q}} \left(\left(\frac{A_4(\alpha, 0) + A_3(\alpha, 0)}{3} \right) |f'(a)|^q + \left(\frac{2A_4(\alpha, 0) - A_3(\alpha, 0)}{3} \right) |f'(b)|^q \right)^{\frac{1}{q}} \\ & \quad \left. + (A_6(\alpha, 0))^{1-\frac{1}{q}} \left(\frac{A_5(\alpha, 0)}{3} |f'(a)|^q + \left(\frac{3A_6(\alpha, 0) - A_5(\alpha, 0)}{3} \right) |f'(b)|^q \right)^{\frac{1}{q}} \right\}. \end{aligned}$$

Here, $A_1(\alpha, 0)$, $A_2(\alpha, 0)$, $A_3(\alpha, 0)$, $A_4(\alpha, 0)$, $A_5(\alpha, 0)$, and $A_6(\alpha, 0)$ are defined in Remark 3. For the proof, we refer to [24, Theorem 5].

REMARK 8. Consider $\lambda = 0$ and $\alpha = 1$ in (12). Then, (12) coincides with

$$\left| \frac{1}{b-a} \int_a^b f(t) dt - \frac{1}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] \right|$$

$$\begin{aligned} &\leq \frac{b-a}{36} \left[\left(\frac{17}{16} \right)^{1-\frac{1}{q}} \left(\frac{251 |f'(a)|^q + 973 |f'(b)|^q}{1152} \right)^{\frac{1}{q}} \right. \\ &\quad + \left(\frac{1}{4} \right)^{1-\frac{1}{q}} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{\frac{1}{q}} \\ &\quad \left. + \left(\frac{17}{16} \right)^{1-\frac{1}{q}} \left(\frac{973 |f'(a)|^q + 251 |f'(b)|^q}{1152} \right)^{\frac{1}{q}} \right], \end{aligned}$$

which was presented in [24, Remark 4].

4. Conclusions

Some new versions of Newton-type inequalities are considered for the case of differentiable convex functions by using tempered fractional integrals. More precisely, several Newton-type inequalities for the case of differentiable convex functions are constructed by using the Hölder and power-mean inequality. Moreover, more results are presented by using special choices of obtained inequalities.

The study of Newton-type inequalities by tempered fractional integrals has the potential to lead to new ideas and strategies for mathematicians in the future. Moreover, one can try to generalize our results by using a various version of convex function classes or another type fractional integral operators. Finally, one can obtain these type of inequalities by tempered fractional integrals for the case of convex functions by using quantum calculus.

References

- [1] Ali, M.A.; Budak, H.; Zhang, Z. *A new extension of quantum Simpson's and quantum Newton's type inequalities for quantum differentiable convex functions*, Math. Methods Appl. Sci. **45** (4) (2022), 1845–1863.
<https://doi.org/10.1002/mma.7889>
- [2] Buschman, R.G. *Decomposition of an integral operator by use of Mikusinski calculus*, SIAM J. Math. Anal. **3** (1972), 83–85.
<https://doi.org/10.1137/0503010>
- [3] Erden, S.; Iftikhar, S.; Kumam, P.; Awan, M. U. *Some Newton's like inequalities with applications*, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM, **114** (4) (2020), Paper No. 195.
<https://doi.org/10.1007/s13398-020-00926-z>
- [4] Erden, S.; Iftikhar, S.; Kumam, P.; Thounthong, P. *On error estimations of Simpson's second type quadrature formula*, Math. Methods Appl. Sci. **2020** (2020), 1–13.
<https://doi.org/10.1002/mma.7019>
- [5] Hezenci, F.; Budak, H.; Kösem, P. *A new version of Newton's inequalities for Riemann-Liouville fractional integrals*, Rocky Mountain J. Math. **53** (1) (2023), 49–64.
<https://doi.org/10.1216/rmj.2023.53.49>
- [6] Gao, S.; Shi, W. *On new inequalities of Newton's type for functions whose second derivatives absolute values are convex*, Int. J. Pure Appl. Math. **74** (1) (2012), 33–41.
- [7] Gorenflo R.; Mainardi F. *Fractional calculus: Integral and differential equations of fractional order*, Springer Verlag, Wien, 1997.
https://doi.org/10.1007/978-3-7091-2664-6_5
- [8] Iftikhar, S.; Erden, S.; Ali, M.A.; Baili, J.; Ahmad, H. *Simpson's second-type inequalities for coordinated convex functions and applications for cubature formulas*, Fractal Fract. **6** (1) (2022),

33.
<https://doi.org/10.3390/fractalfract6010033>
- [9] Iftikhar, S.; Erden, S.; Kumam, P.; Awan, M. U. *Local fractional Newton's inequalities involving generalized harmonic convex functions*, Adv. Difference Equ. **2020** (1) (2020), Paper No. 185.
<https://doi.org/10.1186/s13662-020-02637-6>
- [10] Iftikhar, S.; Kumam, P.; Erden, S. *Newton's-type integral inequalities via local fractional integrals*, Fractals **28** (3) (2020), Article ID 2050037.
<https://doi.org/10.1142/S0218348X20500371>
- [11] Kilbas, A.A.; Srivastava, H.M.; Trujillo, J.J. *Theory and Applications of Fractional Differential Equations*, North-Holland Mathematics Studies, 204, Elsevier Sci. B.V., Amsterdam, 2006.
- [12] Li, C.; Deng W.; Zhao, L. *Well-posedness and numerical algorithm for the tempered fractional ordinary differential equations*, Discrete Contin. Dyn. Syst. Ser. B **24** (2019), 1989–2015.
<https://doi.org/10.3934/dcdsb.2019026>
- [13] Luangboon, W.; Nonlaopon, K.; Tariboon, J.; Ntouyas, S.K. *Simpson-and Newton-type inequalities for convex functions via (p, q) -calculus*, Mathematics **9** (12) (2021), 1338.
<https://doi.org/10.3390/math9121338>
- [14] Meerschaert, M.M.; Sabzikar, F.; Chen, J., *Tempered fractional calculus*, J. Comput. Phys. **293** (2015), 14–28.
<https://doi.org/10.1016/j.jcp.2014.04.024>
- [15] Meerschaert, M.M.; Sikorskii, A. *Stochastic Models for Fractional Calculus*, De Gruyter Studies in Mathematics, **43**, Walter de Gruyter and Co., Berlin, 2012.
<https://doi.org/10.1515/9783110258165>
- [16] Mohammed, P.O.; Sarikaya, M.Z.; Baleanu, D. *On the generalized Hermite–Hadamard inequalities via the tempered fractional integrals*, Symmetry **12** (4) (2020), 595.
<https://doi.org/10.3390/sym12040595>
- [17] Noor, M.A.; Noor, K.I.; Awan, M.U. *Some Newton's type inequalities for geometrically relative convex functions*, Malays. J. Math. Sci. **9** (3) (2015), 491–502.
- [18] Noor, M. A.; Noor, K.I.; Iftikhar, S. *Some Newton's type inequalities for harmonic convex functions*, J. Adv. Math. Stud. **9** (1) (2016), 07–16.
- [19] Noor, M.A.; Noor, K.I.; Iftikhar, S. *Newton inequalities for p -harmonic convex functions*, Honam Math. J. **40** (2) (2018), 239–250.
<https://dx.doi.org/10.5831/HMJ.2018.40.2.239>
- [20] Pečarić J.E.; Proschan F.; Tong Y.L. *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, Boston, 1992.
- [21] Samko, S.; Kilbas, A.; Marichev, O. *Fractional Integrals and Derivatives: Theory and Applications*, Gordon and Breach, London, 1993.
- [22] Sarikaya, M.Z.; Set, E.; Yaldiz, H.; Basak, N. *Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities*, Math. Comput. Model. **57** (2013), 2403–2407.
<https://doi.org/10.1016/j.mcm.2011.12.048>
- [23] Sarikaya, M.Z.; Yildirim, H. *On Hermite-Hadamard type inequalities for Riemann-Liouville fractional integrals*, Miskolc Math. Notes **17** (2017), 1049–1059.
<https://doi.org/10.18514/MMN.2017.1197>
- [24] Sitthiwirattham, T.; Nonlaopon, K.; Ali, M.A.; Budak, H. *Riemann-Liouville fractional Newton's type inequalities for differentiable convex functions*, Fractal Fract. **6** (3) (2022), 175.
<https://doi.org/10.3390/fractalfract6030175>
- [25] Srivastava, H.M.; Buschman, R.G. *Convolution Integral Equations with Special Function Kernels*, John Wiley & Sons, New York, 1977.

Fatih Hezenci

Department of Mathematics, Faculty of Science and Arts, Duzce University,
Duzce 81620, Turkiye.

E-mail: fatihezenci@gmail.com

Hüseyin Budak

Department of Mathematics, Faculty of Science and Arts, Duzce University,
Duzce 81620, Turkiye.

E-mail: hsyn.budak@gmail.com